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Question Number : 1 Question Id : 544734961 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is false?

&1 So0d 835" DA D sTE?
Options :

If f 1s an even function from R to R then f (o) must be equal to 0
- f:R = R 28 %8 HDooda0 900 f(o) devsd 0 529

f:R — R defined by f(x) = x — [x] Vx € R. where [x] is the greatest integer not
greater than x, 1s a periodic function
VXER,f:R-R & f(x)=x—[x] ™ Dds::)fg f 8 €356 poakaw [x]

BRDIG X CI0E), YFT08 &) Ardaod

2. %

If f: R — R is an odd function. then f (o) = 0
- f:R = R 2,8 £ pdooidoond f(o) =0

Number of onto functions from {1, 2, 3,4,5,6} to {1, 2} is 62
4 % {1,2,3,4,5,6} doc. {1,2} £ o Do Dvoire “n}c:a}é 62
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Question Number : 2 Question Id : 544734962 Display Question Number : Yes Is Question
Mandatory : No

gl .
18
2—|x]|

The domain of defined of the function f(x) =

1|
2-|xd

flx)= HIvaH HBFID

Options :
;% [-1,11U(=,-2]U[2,)

Ly (2,2)U(2,0)

Question Number : 3 Question Id : 544734963 Display Question Number : Yes Is Question

Mandatory : No
For what values of m € N, the following divisibility x + y/x™ + v™ holds?
@0g), m € N, D Dend0 x +y @ dodd| x™ + y™ &0 erHV) &7

Options :
even munbers
~0 :3533?5?_1}

odd numbers
&3 HGE!J}SF.D
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all-natural numbers
_ uﬁﬁlﬁﬁraaﬁm@%&m

only whenm = 1
- m=13r3

Question Number : 4 Question Id : 544734964 Display Question Number : Yes Is Question
Mandatory : No

Which of the following matrix has rank 37

& 08 Jragees” O 28 §8 3 ©Hted

Options :
i0 11 12
. 12 313
112 13 14
1. %

0 —51 101
5% 0 —581
—101 581 0

2 %
8 1 2
—% 0 &
—& 2 B
3.¢¥
1 2 3
2 4 6
4% 3 6 9

Question Number : 5 Question Id : 544734965 Display Question Number : Yes Is Question
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Mandatory : No

J

If w 1s a complex cube root of unity and 4 = [ 0

0 ] then 4°° =
@

(J

1 cdos), “n:oég AVADATLA ‘@ NS, 4 = [ 0

ﬂ B
] esond A% =
o

Options :

1% @A
2. v @A

3. % 4

Question Number : 6 Question Id : 544734966 Display Question Number : Yes Is Question
Mandatory : No

If a square matrix A is such that (AT = % I) (A —% I) = (AT +% l) (A + % I) =1, where
15 a unit matrix, then A s

A 093 53068 708 (AT—% 1) (A—% 1) = (AT 2 1)(A+§ 1) =1 eabieoroos (1
chareS eSS ), A ards

Options :
Symimetric matrix

| B 2788

i
Equal to = i

3
2 I 85 ROPRA0L
2. %

AP EAPCET 2021



AP EAPCET 2021

Skew — svmimetric matrix
55 — YD 2@

—3
equal to — [
q 4

-3
T I 85 DA

Question Number : 7 Question Id : 544734967 Display Question Number : Yes Is Question
Mandatory : No

The system of equations 2x + 6y = —11, 6x + 20y — 6z = -3, 6y — 18z = —1 are
2x + 6y = —11, 6x + 20y — 6z = -3, 6y — 18z = —1 &0 :15;5?353

Options:

Inconsistent
1@ D T (e9DoredA)

Consistent with unique solution
5 % DBE FORD Gotwod

Consistent with countable infinite many solutions

- TG ot (Do), T8) ots1DF ©DeIRD F B Eotran

Consistent with infinitely many solutions
n FED Got (PofidRd), Do FJPGDHL oo

Question Number : 8 Question Id : 544734968 Display Question Number : Yes Is Question
Mandatory : No
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2 =3 49 1
— 4 0 -3 .
Le‘f:ﬂ]:[1 - 2}.5‘:[_1 9 _3].6— 5 —1 -4 2| whatisd"B=?

-1 0 0 3

5 -1 —4 2|eocndd’B=?

| ~ 2 w3 0 1
A:[l 12].3:[4 0 3].62

~1 —& —d
¢ 3B -1 0 @ 3
Options :
4 0 ~=3
=i s =iy
1 ¢ 4 -8 -—18

AT B is not defined

5 x ATB DSDonS I

4 -7 4

0 -6 -8
,xl—3 12 6
4% ATB=0

Question Number : 9 Question Id : 544734969 Display Question Number : Yes Is Question
Mandatory : No

If z is a complex number, the curves |z| =1,|z—2| = 1and |z — 1| = 0 have a common
point at

Z s ‘;’ooég Roa). |z =1,]z—2| =1 &880 |z - 1| = 0 @3 dz°0 am&&. Dot

Options :
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3.v (1L0)

Question Number : 10 Question Id : 544734970 Display Question Number : Yes Is Question
Mandatory : No

Let z = x + iy be a complex number (x, ¥ € R). Let A and B be two sets such that A =
{z:|z| £2}andB={z: (z+2y) + z = 4} the are of region A N B 15

z=x+tiyws "«)oég R0 (x,y ER) A 0050 B 93 dabedoen 4 ={z: [z =2}
200w B={z: (z+2y)+z24} woiaémgpoej . AN B Arued PA3 STV

Options :
1.% 4
0. x T—4
3.8
4.9 T2

Question Number : 11 Question Id : 544734971 Display Question Number : Yes Is Question

Mandatory : No

Let z = cos @ +isin 8. Then the value of ¥ 22, I, (z2™ 1) at @ = 2°is

z = cosf +isinf @ONIDD 0 = 2° DG T [, (27™71) Dewsd dods?

Options:
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3 % 2 sin 2°

|

= -]
4. 4512

Question Number : 12 Question Id : 544734972 Display Question Number : Yes Is Question
Mandatory : No

2

The equations x> — ax + b = 0 and x* + bx — a = 0 have a common root, then

x2 —agx +b =0 200050 12 + bx — a = 0 2oL &0} AreWE.

Options :

133&':»5
7 « 2+ b =1

3da+b=001‘a—b=1

Question Number : 13 Question Id : 544734973 Display Question Number : Yes Is Question
Mandatory : No
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If @ and f are the roots of the equation x* — x + 1 = 0 then @*®° 4 p*%° =

X2 —x + 1= 0%DEOITIS a 200ak0 f oo Jrergd, o?" 4+ 20 =

Options :

1.8 —2

2. % —1

3.v 1

4. %

Question Number : 14 Question Id : 544734974 Display Question Number : Yes Is Question
Mandatory : No

e v Q2x) 56
Let Q(x) be a polynomial of degree n. If Q(1) = 1 and Wt + 55 8 = 0. then the
n n s
valueof "Gy + €y + 4+ C, =
() 28 n & S6D 06 Q(1) = 1 060ty —=0 4 g g sand
o " )= Q[x+1)+x+?_ -

n n Np
C,+"C ++"C, =

Options:

|« 64

3.v 8

4. % 16

AP EAPCET 2021



AP EAPCET 2021

Question Number : 15 Question Id : 544734975 Display Question Number : Yes Is Question

Mandatory : No

Suppose that the equation ax” + bx + ¢ = 0 has roots @ and f. both of which are different

1 : 1 .
from —. then an equation whose roots are and 15
3 3a-1 3p-1
1 1 3 ; 1 1
a¥ - p# Twax 1 bx + ¢ = 0 2eE6ErDS Arergd, z 1:.uﬁojn 1
= i

AT ’n}b.)édeaan

Options :
: s (@+3b+90)x* +(Bb+2a)x+a=0

5 % (@a+3b+9c)x"—(Bb+2a)x+a=0

3 % (a+3b+9%)x2+Bb—2a)x+a=0

4 % (a4+3b+9)x*—Bb—2a)x+a=0

Question Number : 16 Question Id : 544734976 Display Question Number : Yes Is Question
Mandatory : No

Statement I: The number of ways of distributing 10 identical balls in 4 distinct boxes such

: i 9
that no box is empty is "C 3

: ; . 94
Statement II: The number of ways of choosing 3 places from 9 different places 1s (J3

2OFEH I: Trenrhd D) D0’ D w8 DY eI Gotidier 10 2,8 DD Lodowd
’C, d8AmerT dosiww.

DOF 6 II: 9 DD HEBWS IPT 3 HFsALW i 3 DT amﬁ 3N
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Options :

Statement I 1s true, statement IT is true; statement I s not a correct explanation for statement I
| 2OF0RAD T 20805 T v i, 5 POFEII0 T HAFEHAD T B0 BSOS

Statement I 15 true, statement II is false
- DATF D0 I D 520 11 Dazdw 576w

Statement I 1s false, statement II 1s true
5 % ROFE350 I Jadw 576 57 1T Jasdw

Statement [ 1s true, statement I 1s true; statement IT is a correct explanation for statement I
4% AT ED0 108050 T o zdw. HAFGA [T HATENEa0 T A0 Ey8h808

Question Number : 17 Question Id : 544734977 Display Question Number : Yes Is Question
Mandatory : No

The sum of ntegers from 1 to 50 that are divisible by 2 and 3 15

1 A0G 50 HE o DD R}oa:gueﬁ“ 2 0608 3 B erhctint PR ANBD

Options :
1 % 316

2.v 6

5 % 36

4. % 48
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Question Number : 18 Question Id : 544734978 Display Question Number : Yes Is Question
Mandatory : No

The solution set of *C,_y > 2. (°C,) is

*Crmr > 2. (°C,) aIng), FGD DS DB?

Options :

, % {2,3,5}
3 v 15}

L » {135)

Question Number : 19 Question Id : 544734979 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is an improper rational traction?

&1 306 TH5° DB DG HSBHOD HDAAN?

Options :

x?+1
2§ (x* +x+ 1)

1. %

xZ+1
(x+3)(x*—x+1)

X
“ (%4 32+1)

3.
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x.z+1

Question Number : 20 Question Id : 544734980 Display Question Number : Yes Is Question
Mandatory : No

cos? 10° 4 cos® 50° — sin 40° sin 80° =

Options :
1

1.?5“gzlr

u:.|4=~

rF"lL'J

Question Number : 21 Question Id : 544734981 Display Question Number : Yes Is Question
Mandatory : No

If @ + f§ = y then what is the value of cos? a + cos® B+ cos? y =

@+ f =y oowd, c0s? a + cos? f + €05? ¥ Densdtd DAFHA00HE

Options :

1+ 2 cos?

. a cos® B cos®y
1,

, x 1+2 cos?a cos?f cos?y
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; w1+ 2cosa cosf cosy

4 » 1t+4cosa cos 3 cosy

Question Number : 22 Question Id : 544734982 Display Question Number : Yes Is Question
Mandatory : No

4

The equation sin x + cos* x = a has real solutions, then

sin® x + cost x = a PAEGETIS TRD APErLD o,
Options:
5

1 g elr—
1. % -

-

1
?ia‘:_l'l
2.9

Question Number : 23 Question Id : 544734983 Display Question Number : Yes Is Question
Mandatory : No

The solution of the equation [sinx + cos x]1T52% =2 where —r < x < 7w is

—T < x < 7 oS> [sinx + cos x]1HSIN2X — 5 ey 50y eesed x =
Options :

AP EAPCET 2021



AP EAPCET 2021

Question Number : 24 Question Id : 544734984 Display Question Number : Yes Is Question
Mandatory : No

In a triangle ABC. 2ac sin%{;ﬂl —RB L) =
ABC 8z0o3:208° 2ac sin%(ﬂ _B+4C) =
Options :

- il B oy

, u @ fbh—e

2 2 1.2
3 ¢ @°+C b

o u B

Question Number : 25 Question Id : 544734985 Display Question Number : Yes Is Question
Mandatory : No
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In triangle ABC. a = 6cm, b = 10cm and ¢ = 14cm. Then the sum of the acute angles of the
triangle is

ABC dzasnd’ a = 6em, b = 10cm 28030 ¢ = 14cm 900 & SFBENS'D LON
Erro 20daw

Options :
1 % 180°

, % 120°
3.% 90°

4.v 60°

Question Number : 26 Question Id : 544734986 Display Question Number : Yes Is Question
Mandatory : No

— 2B
If *P" 1s a point on the equation AD of the triangle ABC, and ZABP = Py then AP 1s equal to

2y _— s 2B
ABC 8%b2308" AD. A &00é BC % word®. ‘P*, AD 2 Doty bt LABP = ?
eod. AP 2 AArHA
Options :

. B
C sin—
1. % 3
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2B

Z2C s1n—
4. % <

Question Number : 27 Question Id : 544734987 Display Question Number : Yes Is Question
Mandatory : No

ABCD is a parallelogram such that L is midpoint of BC. then AL is equal to
ABCD 28 2700 :ﬁe&){i}aa;ﬁmﬁs BC O]JJSZ} ;11.}(;’:-5 Doty L eand AL & R0
Options :

1

DC +— AD
2

Question Number : 28 Question Id : 544734988 Display Question Number : Yes Is Question
Mandatory : No

The number of values of m € R for which the vectors i + 2j + mk and i + mj + 2k are collnear 1s
i +2j + mk 28050 i +mj + 2k HB%en PEDaTFL ST m a8, TR HIJV LIV 9y ?

Options :

1.332‘
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3. ¢ 1

Infinite
4 % ©D0Bo

Question Number : 29 Question Id : 544734989 Display Question Number : Yes Is Question

Mandatory : No

If ABCDEF is a regular hexagon, where two adjacent sides ABandBCare @ and b
respectively. Then CD is

ABCDEF e 2,8 §30 1362 Both 509) zbasioen AB = ' Sbatw BC = b &0

wand, CD & H3rIH0

Options :

o B
L @+h
3. % a-b
4 % a+2§

Question Number : 30 Question Id : 544734990 Display Question Number : Yes Is Question
Mandatory : No
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If @b, are three vectors such that | @' | = 3. I b [ =4.|¢|=5ada@ +b +¢ = 0. then

sy
a

.b 15 equal to

— o

@b, ed 068w |T|=3.|b |=4.|T|=5 0w T+b +T =0wand7.b ©
DATHRB

Options :

e 12

Question Number : 31 Question Id : 544734991 Display Question Number : Yes Is Question
Mandatory : No

Let E’,F and ¢ be non-zero vectors such that (E X F) = % |E‘[ Il @. If 8 is the acute
angle between the vectors b and T then sin 6 =

S0 b8 7,1 , T 0% (7 X D) xT =5 [b| 717 ot b, T v o o
020 S0 6§ wowd sinf =

Options :
1
1.% 3

2
2 % 3
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N
3 ® 3
242
4.« 3

Question Number : 32 Question Id : 544734992 Display Question Number : Yes Is Question
Mandatory : No

fa=x2T+xj +3kandb =x7 —4] +2%kand@.b > 6 then

T=x’T+x] +3k,b=xi—4] +2k 280507 .b > 6 wond

Options :

1. %« XER

, % XE (—o0,0) U (1, 00)

3. % X €(—0,—2) U (2 00)

Question Number : 33 Question Id : 544734993 Display Question Number : Yes Is Question
Mandatory : No

If @b, cbe3 non-coplanar vectors and (@ — }LF) (E ~22)x(T+2@) =0thend =

a,b,¢ 20%ew wodatren 200a0 (@ -1 ).(b - 27) x (€ +2@) = 0 wowd 1 =
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Question Number : 34 Question Id : 544734994 Display Question Number : Yes Is Question
Mandatory : No

The mean of set of ‘n” numbers when each in divided by 5 1s T then mean of the ‘n’ number 1s

X
n’ ‘r‘ooa,:?&um 5@ erfowdr S ;‘ooaaigu méém:.m T L0, ‘n’ "n:ca:lgv mqgmm

Options :
| % 5%

Question Number : 35 Question Id : 544734995 Display Question Number : Yes Is Question
Mandatory : No

The mean of the squares of first ‘n” natural numbers 1s
DG, ‘N’ DTPR VoYL STV SE{E8D Jodh?
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Options :

[ n(n+1) ]
* 2

2

2:'1.2—3n+1

2. % 6

2n2+3n+1

3. ¢ 6

n(n+1)(2n+1)

4. % 6

Question Number : 36 Question Id : 544734996 Display Question Number : Yes Is Question
Mandatory : No

1 3
If A and B are mutually exclusive events with P(4) = = and P(B) = - Then what 1s the

value of P(A/AUB) =

1 3
A dobodn B ewn Qd“ﬂbd &’Jsﬁgé 2o, P(4) = I S08atn P(B) = ? eond P(A/AUB)
Q0 odh?

Options :
7

1 v 19

12
19

06
19
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13
4, % 19

Question Number : 37 Question Id : 544734997 Display Question Number : Yes Is Question
Mandatory : No

Let A, B, C be three events associated with sample space S. A, B, C are pair wise independent
and P(4) = P(B) = P(C) = P. If all of them cannot occur simultaneously then
P(AUBUC) =

§ &R T8 esd0med’ 96100 W(Bed LowRRAN 4,B, C % P(4) = P(B) = P(C) = P
208050 & 3 wdeD 2838 266 0TS P(AUBUC) =

Options:

; x 1-Q-P)°
2 3P(1—P)
3.% P?

4 % 3P

Question Number : 38 Question Id : 544734998 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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Jx+1

1 —_
Events A, B, C are mutually exclusive events such that P(4) = (B = Tx and

1=
P(C) = Tr The set of possible values of x are in the mterval

Jx+
3

1-2x

1 =% .
ABCw :}d“n}bd ﬁbgé RV ST P(4) = , P(B) = T S8atn P(C) =
P00 X QNS

Options :

5]
A

Question Number : 39 Question Id : 544734999 Display Question Number : Yes Is Question
Mandatory : No

When employees with smart phones are randomly selected. 50 % use them for office purpose.

The probability that out of 10 users exactly 2 of them use for office purpose 1s

)80 Jdown & adfRwe Eoditedd Ardy\Sorr i) EYCD, T8¢ 50 %
2008 TA ey Hvw S8 DT AR 6. 10 H006 T T& TS D) dorT
Clod 25070 D3 DIATAoEIL 0gP[8 Jod?
Options :

10 C

1. ® 2
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Mandatory : No

AP EAPCET 2021

: 5447341000 Display Question Number : Yes Is Question

If X is a poisson variate such that P(X = 2) = P(X = 3). thene®. P(X = 4) is

X 03 Fonad oroo3 P(X = 2) = P(X = 3) edbjinod. e P(X = 4) dend DA?

Options :

&)

3
2. % 2

e 3 34

3. & 4!

e3 34

4. % 4!

Question Number : 41 Question Id

: 5447341001 Display Question Number : Yes Is Question
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Mandatory : No

For two points A(2,1) and B(1,2), *P’ is a point such that PA : PB = 2 : 1, then locus of
P1s

A(2,1) 0803w B(1,2) Dotrapws ‘P’ eod Do) PA:PB=2:13 ég?}bﬁi_g, P
Doty DothDEHAN

Options:

;% ¥ +3y"+4x+14y—15=0
, @ 327 +3y?—4x—14y +15=0

3 % 3x2+ 3y +2x+7y+13=0

4 % 3 +3y?—2x—7y—13=0

Question Number : 42 Question Id : 5447341002 Display Question Number : Yes Is Question
Mandatory : No

The equations of sides AB. BC and CA of a triangle ABC are 2x +y = 0.x +py = qand x —

y = 3 respectively. If P(2, 3) is its orthocenter. then the value of p + ¢ equals

204y =0.x+py = q 200000 x - y = 3 0 G ABC gEoadw aws), AB. BC
2080500 CA Z0arod) ATORT. 80k ol votsdedaw P(2,3) ewond, p+q dwod

Options:
1.v 50

2. % 47

3.33 65
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Question Number : 43 Question Id : 5447341003 Display Question Number : Yes Is Question
Mandatory : No

Aline ‘L’ through A(—5,—4) meets the lines x + 3y +2=0. 2x+ y+4=0.x—-y-5=10

15

2 2 -\ 2
10 6
at ponts B. C and D respectively, If (—) + (—) = (—) . then find the equation of °L’.
AB AC AD

A(=5,~4) Do) oot el ‘L’ 0D 2E D68 ¥ + 3y +2=0. 2x +y+4=0, x -
15\2 (10\% /62
y—5 =0 B S8 B. € odain D Dotodr bg) aJo&'_'.cQJ". (—) + (—) = ( )

AB AC E
eood, ‘L Hesmaw

Options :
1@ 2x+3y+22=0

233 51’_4}14_?:0

Question Number : 44 Question Id : 5447341004 Display Question Number : Yes Is Question
Mandatory : No

A straight line — - g 1 passes through the point (8,6) and cuts a tnangle of area 12 sq.
i

units from the axes of coordinates, The equations of the straight lines are

28 89—~ == 1 Bocoi) (86) oorr T oo 12 Si0rde Dregv o
S7ar ) D6y0D Wd) 8. Bawd & Sne PECETLD
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Options :
1 % ax+dy =12 & 3Ix+8By =24

, o 3x—2y—12=0 & 3x—8y+24=0

3 2x+3y=12 & 8x 4+ 3y =24

4 % Zx—3y+12=0 & B+ 3424 =0

Question Number : 45 Question Id : 5447341005 Display Question Number : Yes Is Question
Mandatory : No

If a straight line through the point P(1,2). which makes an angle 45° with the x-axis. meets
the Iine 3x + 4y + 5 =0 at Q. then length of PQ equals umnits

x-egAnd 45° Fndn S, P(1,2) Hotdd) ot o 28 2698 31 +4y +5=10
& 8% 208D @ Dot 36 wodd, PQ Te AN

Options:

1642
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Question Number : 46 Question Id : 5447341006 Display Question Number : Yes Is Question
Mandatory : No

The distance between pair of parallel lines represented by x? + 2xy + y* — 8ax — 8ay —
9a® = 01is units

Xt +2xy +v* —8ax —8ay —9a* =0 53_3“0311}(‘%.‘.1}3 Aol RATedd Gaw Qg o
GP6A0 LI

Options :
% 52

Question Number : 47 Question Id : 5447341007 Display Question Number : Yes Is Question
Mandatory : No

The angle between lines represented by (.sin2 a)yz = 2?(_1?( cos” cr) + (ms2 = 1).r2 =01

(8'1112 a)_vz = 2.\'}-‘(:0052 a) + (cosz - 1)1‘2 = 0 H 6w 2rdotd Gaw SYel €t

Options :

1 % 2a

3.v 3
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Question Number : 48 Question Id : 5447341008 Display Question Number : Yes Is Question
Mandatory : No

If the lines x2 + kxy +y? = 0 and x + y = 1 make up the sides of an equilateral friangle.

then the value of k% equals

X+ kxy + v = 0 286500 x + 7 = 1 00 Ardold ROFED W8 Dot ZoRAN as),
oo 363&6. k? Dend

Options :
1% 4

5, v 16
3.% 9

4 % 64

Question Number : 49 Question Id : 5447341009 Display Question Number : Yes Is Question
Mandatory : No

If the product of the perpendiculars from origin to the pairs of lines xy+x+y+1=0.

xt =yt +2x+1=0and 2x% 4 3xy — 2y + 2x + 1 = 0 respectively are p;. p,. ps. then

3r0do6Y) Aot PEVEFrameD Xy + X +y+1=10, 22—yt 4+ 2x+1 =0 Sdatv
2x" 431y = 2" + 20+ 1= 0 08 60 LotPw) VEPOD $0T ;. ). p3 BOVS,

2B’ DB Jadw?

Options :
1 x PL<P2<P3
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5 % PL<P3<P2
3 v Pa~Pr=n

4 % P2<P1=P3

Question Number : 50 Question Id : 5447341010 Display Question Number : Yes Is Question
Mandatory : No

If the lengths of the tangents drawn from the point (1,2) to the circles x2 + y2 +x +y—4 =

0and3x® +3y* —x—y—A=0areintheratio 3 : 4. then 1 =
(1,2) Docod) &0 % +y2 +x+y—4 =080 3x> + 3> —x—y-1=00%
Bad 6 6000 Teyw3 4 :)abe_‘igeﬁ*‘ &d)owd, 1 =

Options :
23

Question Number : 51 Question Id : 5447341011 Display Question Number : Yes Is Question
Mandatory : No
AP EAPCET 2021
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If the length of the tangent drawn from the point from (-2, 3) to the circle ¥+ _vz 48y —
6y +k = 0is 4 units, then k =

(=2,3) Dot 0D x? + 2 +8x — 6y + k = 0 3,508 A 0y6\0 Tk 4
PR Band, k dend

Options:
1. % 34

2. % 36
3 % 38

4.v 37

Question Number : 52 Question Id : 5447341012 Display Question Number

Mandatory : No

If two diameters of a circle of circumference 107 lie along the lines 2x + 3y + 1 =0and

3x — v — 4 = 0. then the equation of circle is

107 ot §08 (0 28 BN 000g) Do TR0 2 + 3y +1 = 0 B 3x —y -

4 = 0 &3 Dotk EVEDLY APDD. & A0 LGN
Options :
- x2+y2+2x—2y—23=0

5 ¢ B2 AYE=2¢ 42y ~23 =0

s x X +y*+2x+2y—23=0

4, %
AP EAPCET 2021
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2 4yt -2 —2y—23=10

Question Number : 53 Question Id : 5447341013 Display Question Number : Yes Is Question
Mandatory : No
The lengths of the tangents from the point (1,2) to the circle x> + y2 + x +y —4 =0 and

3x% +3y2 —x —y—k = 0 are in the ratio 4:3. then the value of k is
(1,2) Doty ool x2 +y2 +x+y—4 =000 3x2 +3y2—x—-y-k=0
TV (0 B Baw Tepen 4:3 Wnd & ot k Jewsd

Options :

Question Number : 54 Question Id : 5447341014 Display Question Number : Yes Is Question
Mandatory : No

If the circles x* + y* —6x -8y — 12 = Oand x* + y2 —4x + 6y + k = 0 are
perpendicular to each other. then ‘k” equals

x2+yt—6x—8y—12=02008000 x2 + y2 —4x + 6y + k = 0 Hzren 2507588
VoA Polotidtotd, &k’ e
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Options :
1. % 4

2.v 0
3. % —2

4w 12

Question Number : 55 Question Id : 5447341015 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a circle which passes through the point (1, 2) and the points of

intersection of the circles x? + y2 —8x — 6y + 21 = 0and x* + y? - 2x — 15 =0,

x* 4yt —8x— 6y +21 =0 208050 x° + y* — 2x — 15 = 0 35570 Dot Dot
ooz T, 28080 (1,2) Do) o T'ah 9,8 RNEGHAN

Options:
1. ¢ x2+yi—6x—4y+9=0

, % X2 +y?—18x — 12y +27=0

3 % 20> +y7) —18x + 12y +27 =0

4 % 20 +y) —3x+12y +16=0

Question Number : 56 Question Id : 5447341016 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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Ifx — 2 = t2, y = 2t are the parametric equations of the parabola y% = a(x — b). then the
value of @ + b equals

x—2=ty=2twy? =alr-b) Hrswahan g S-S VST ©owd.
a+b Jend
Options:

1. % 4

4.v 6

Question Number : 57 Question Id : 5447341017 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of the ellipse which passes through the points (-3, 1) and (2,—2), whose

center lies at (0, 0) and major axis lies along the x-axis.

(~3,1) 80%0 (2,-2) Dotoe oo T'&, (0,0) 3¢ Somrd) B0%0 x50 Do
BTy DA ol BG:,B50 a1g) ANLCHID

Options :

- 3x% +5y% =32

, x 522 43y% =32
3 % 5x%—3y*=32

4 x 3x°+5y° =132

AP EAPCET 2021
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Question Number : 58 Question Id : 5447341018 Display Question Number : Yes Is Question
Mandatory : No

The harmonic conjugate of the point (2,3 ,4) with respect to the points (3 ,—2,2) and
(6,-17,—4) 15

(3,-2,2) So8odw (6,-17,—4) Dotdedv ‘:'5&%“5 (2,3,4) Docdy qiwg), TS
Roatuf) Dot)

Options :

18 4
TRE;
1.# \D 5

, % (11,-16,2)

('l 1 1)
3 % 2 "ty

4 % (0,0,0)

Question Number : 59 Question Id : 5447341019 Display Question Number : Yes Is Question
Mandatory : No
If three consecutive vertices of a parallelogram are A(4,3,5),B(0,6,0) C(—8,1,4) and D is

the fourth vertex, then the angle between AC and BD is

28 HATOBE LB TWE) Arc) %g“w Seare A(4,3,5),B(0,6,0) C(—8,1,4)
280k D 9 %g;m wond H6Y e AC datn BD © o E'e0

Options :
1 % V1494161
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. 55 )
2 o o8 (qﬁw’ml

Coe™t (L)
3 % V149161

L Cos™1 (ﬁ)

Question Number : 60 Question Id : 5447341020 Display Question Number : Yes Is Question
Mandatory : No

The angle between the lines whose direction cosines are given by the equations [ + m® —
n=0.l+m+n=10is

Z4m?—n2=0,1+m+n=00dssmod ardosnd 65 Epse fv 5pv 065§
'

Options :
T

1.% ©

Sk

w|a
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Question Number : 61 Question Id : 5447341021 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a plane, given that the foot of perpendicular drawn to the plane from
originis (2,1,2).

20r0D0EIY) Aot 28 BOAN S ADD LAY (2,1,2) wond, & dv
2D0E0mIN BRI,

Options :
1% 3x+y+z==6

, w X+ty+z—-5=0

3 % Si=i—3n= =

4.\_/2_&: +y+2z=9

Question Number : 62 Question Id : 5447341022 Display Question Number : Yes Is Question
Mandatory : No

. 1—-0" —a
If lim : relas . thena =
n—-w 1+ (10)" 10

. 1-(0)" -a
lim — oS, a =
n—w 14 (10)" 10

Options :

1. % 0

2. % —1

3.v 1

AP EAPCET 2021
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Question Number : 63 Question Id : 5447341023 Display Question Number : Yes Is Question
Mandatory : No

¢y g
lim ( ) 2t
X— oo ‘!(’-I—l

Options:

Question Number : 64 Question Id : 5447341024 Display Question Number : Yes Is Question
Mandatory : No

x Sin~? (—2x )

: 14«2
1 =
xlf:ﬁ Cos™1 (—1 —x? )an‘l (—331 =X )
1+ x2 : 1 —3x2
Options :
1
1. % 2
1
2. ¢ 3

AP EAPCET 2021
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-[hlh—a

G\ll-—-‘n

Question Number : 65 Question Id : 5447341025 Display Question Number : Yes Is Question
Mandatory : No

2

d i X
Find the value of *k’ 1f T , =k sec (?) tan (?)
X 2-|-J2-I—J2+2ms(4x)

2

= k sec (%) tan (%) wond, ‘k’dwd

dx 2+J2+J2+2cos(4x)

Options:
1

Question Number : 66 Question Id : 5447341026 Display Question Number : Yes Is Question

AP EAPCET 2021
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Mandatory : No

If 2f(x) = 3f (<) = x + 1. then f'(V3) =

2f(x) = 3F (3) = x + 1 wo®. 7(v3) =

Options :
==

1.4 2

3
2. % 5

—4/3

3. ® 5

V3
4.% 5

Question Number : 67 Question Id : 5447341027 Display Question Number : Yes Is Question
Mandatory : No

A function f: R — R satisfies the relation f(x +y) =f(x)-f(y), V x,yERand f(x) #
0,V x ER.If‘f is differentiable at x = 0. f'(0) = 4 and f(6) = 3. then f'(6) =

f:R - R 530000 1,y € R 0 f(x +7) = f(1) - f() & dym6der &od. x € R 0
f0) # 0 208ty x = 0 3¢ °f wdseatdw. f'(0) = 4 6ok £(6) = 3 wand.
ol fl6)=

Options:

1. % 0

2. v 12

AP EAPCET 2021
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Question Number : 68 Question Id : 5447341028 Display Question Number : Yes Is Question
Mandatory : No

—_— : d
If f'(x)=+v2x%2—1 and y = f(x*). then find the value of d_y =L
X

—_— d
f/(x) =V2xT =1 20800 y = f(x°) oowd. x = 1 36 d—y Dewd
% [
Options :

1. % —1

2. ¢ 3

4.% =3

Question Number : 69 Question Id : 5447341029 Display Question Number : Yes Is Question
Mandatory : No

Iff(x) = kx® —9x2 +9x + 3 (k > 0) is increasing for all x. then
29 x DewdD f(x) = kx® — 9% + 9x + 3 (k > 0) s irnand,

Options :
1 % k=3

AP EAPCET 2021
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2'¢k3_3’3
e |

g% 1<k<3

Question Number : 70 Question Id : 5447341030 Display Question Number : Yes Is Question
Mandatory : No

The maximum value of y = x (logx)? is

y = x (log x)* a30g) B Dewd

Options :

Question Number : 71 Question Id : 5447341031 Display Question Number : Yes Is Question
Mandatory : No

The point on the curve y = x*, at which the tangent to the curve is parallel to the x-axis. i

-8 DTS00, y = x° T3 0 0y6y08 dog) y0) Dotk

Options :

AP EAPCET 2021
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(3,3)

4 v (0,0)

Question Number : 72 Question Id : 5447341032 Display Question Number : Yes Is Question
Mandatory : No

Find the area of the triangle formed by the x-axis and the tangent and the normal to the curve
.2 2
X

EE i 'r(a b)
= larfepomt | —= ;—7=1.
az b2 e T

x2

2
il + y— =1 58300 (Ti =_r-) Dot Sl AR n)hﬁgéa) 208050 oot Sney r-edand

?.)d:pif: a0 oWE) HTU

Options :

ab ——
2 — /a2 + b2
1. %

5 % 4ab

b

— (a® + b?
da (a )

ab ——
— a? + b?
4, % 2

Question Number : 73 Question Id : 5447341033 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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If f(x) = x"logx and f(0) = 0, then the value of ‘e’ for which Rolle’s theorem can be
applied in [0, 1] is

f(x) = x“logx 208030 f(0) = 0 @od, [0, 1] ©oddess’ &6 fl:ig'oao 0 Bréarreot
‘@’ Desd

Options :

1. % —2

2. % —1

Question Number : 74 Question Id : 5447341034 Display Question Number : Yes Is Question
Mandatory : No

J‘ A o B |
x—1

Options :

23
et R
1. % 3

X
—bd ke
2. % 3

X
gremels 5 o ot -
3.¢ 3

AP EAPCET 2021
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4 % 2x + ¢

Question Number : 75 Question Id : 5447341035 Display Question Number : Yes Is Question
Mandatory : No

Tan 1(x) : 5 byl
The value of [ Sec™114+x2) +Cos7t — || dx forx > 0is
] 1447 [( i ) 1422 —
-E,Tau'lixj 2 1 — x2
2y ' <A oy o3 =1
x>0 J T [(Sec v14+x%) +Cos (1 xz)] dx 2eod
Options :
o T2 A (Tan"tx)? + ¢
1.4

- gTan ™ () (Tan™1x) 4 ¢

- e (Tan=14)3 4 ¢

—1 5 >
o TAHE) (Tan tx)? + ¢

Question Number : 76 Question Id : 5447341036 Display Question Number : Yes Is Question
Mandatory : No

i j Vx {14V

s 4 1/7 3 B
fx,fx {1+\m4} d.x:,ﬂl(l-l-\fx"’ +C wowd AB =

1/7 s B
dy =4 (1 + v x"‘) + C ,then value of AB =

Options :

1. %

AP EAPCET 2021
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Question Number : 77 Question Id : 5447341037 Display Question Number : Yes Is Question
Mandatory : No

dx +

J' V2 sinx
sin (:-:' + %)

Options :

x + log [sin (.’k’ = %)| +E

x — log |sin (.ﬁ: <= £)| i

2. % 4
. x+log |sin (x + %)l + &
L x — log |sin (I -I—%)l g

AP EAPCET 2021
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Question Number : 78 Question Id : 5447341038 Display Question Number : Yes Is Question
Mandatory : No

T

" xtan x
dx =
secxy +tanx

0

Options :

m(m—2)

Question Number : 79 Question Id : 5447341039 Display Question Number : Yes Is Question
Mandatory : No

b
. dx
If b > a,then J ; — =
/ JG—al—9
b
dx
b>a wm&é.j , —_—
s Jx—a)b—x)
Options:
s
1.% 2

AP EAPCET 2021
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m|:1

Question Number : 80 Question Id : 5447341040 Display Question Number : Yes Is Question
Mandatory : No

dy
dx

x+

Solve the differential equation:

dy

o= e Y gD BHEERALHD FaS
X

Options :

1% et +e¥=r

5 % gt —p¥i—j

4. & e* —e ¥ =

Physics
Section Id : 54473420
Section Number : 2

AP EAPCET 2021
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Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 81 Question Id : 5447341041 Display Question Number : Yes Is Question
Mandatory : No

Which of the following pairs of physical quantities possess same dinension?
208 FAE Trhow 2w’ 48 ﬂ;@@“ﬁ:&ﬂ £DA5D DD?

Options :
Force and surface tension
o (ALI3 s Publelonth ez‘we‘_’saﬁ?ge‘_‘a

Frequency and velocity gradient

|, TdEpBE0 200000 S6S0d

Angular speed and solid angle

- o J& 26030 T Emaw

Stefan’s constant and Plank’s constant

DD ATTeSAD B0IL oS HTTeSIAD
4, ® SR S

Question Number : 82 Question Id : 5447341042 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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A train travels from city-A to city-B with a constant speed of 18 m.s™ and returns back to

city-A with a constant speed of 36 m.s™*. Find ifs average speed during the journey,

18m.s? ?gs S66° 8 Don A Ai6AN Aoé B AitmdS podrgod, &dA 36m.s~
i{gcsades‘ A H6003 BBRA. oS G 3 HoLrRANS’ T e, HTRB I Jod?

Options :
72

1. % 5

3. 3

4. %

Question Number : 83 Question Id : 5447341043 Display Question Number : Yes Is Question
Mandatory : No

What 15 the angle of banking of a railway track of radius of curvature 250 m, if the maximum

velocity of the train is 90 kmph? (use g = 10 m.s™2)

oo aws), (483 St 90 kmph wand, 250 m Ssor 35&8:1.13 o Sew DEFe dis), (L
a0 dosd? (g = 10m.s7%)

Options :

@ = Tan™ ! (i)
1. ® &

AP EAPCET 2021
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- f=Tan"' (%)

L 8 = Tan?! (%)

L w # = Tan™! (%)

Question Number : 84 Question Id : 5447341044 Display Question Number : Yes Is Question
Mandatory : No

From the top of a tower 19.6 m high. a ball is thrown horizontally. If the line joining the point of
projection to the point where it huts the ground makes an angle of 45° with the horizontal. then

the initial velocity of the ball is

19.6m Ao &) 28 056 Mok 8 LS 282 VAT BEINT ANTE. DEIE Dok
208030 210 Zr1 TE Doca €05 B §82 VATeB620E 45° Ersw B, wod
g § S Jod?

Options :

=
1« 98 m.s

> % 49 m.s !

3 % 147 m.s™

4 % 28 ms7t

Question Number : 85 Question Id : 5447341045 Display Question Number : Yes Is Question

AP EAPCET 2021
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Mandatory : No

When a force F givenby F =61 — 18 j + 10  acts on a body. it imparts an acceleration

of 8m.s™2. Then find the mass of the body

F=60-18] +10 kv wwe F a8 Sto o6 D, 81,572 &omrd) w98 e
RSV Qb}gc"%‘

Options :

V115
— kg
1. %

- 10v2 kg

J115
— kg
3. % 2

115
— kg

Question Number : 86 Question Id : 5447341046 Display Question Number : Yes Is Question
Mandatory : No

A car moving at a speed ‘v’ 15 stopped by a retarding force ‘F’ in a distance ‘s”. If the

retarding force were 3F, the car will be stopped in a distance

v S5 YOO T ARV F HEIrAoSan S0 ‘S ERGa ool
23608, Qosseiww 3F 0wd ¢ 5°0) dodd Brdan Doirten) erduod?

Options :

&

1.+ 3

AP EAPCET 2021
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Question Number : 87 Question Id : 5447341047 Display Question Number : Yes Is Question
Mandatory : No

When the mass and speed of the body are doubled, the kinetic energy of the body:
28 DAY IS, BH(T° 2B H¢. ToY WOWS, &8 SR (1833 dod?

Options :

becomes double
. E&éoi&) 29

becomes four times

5 % e CéD earioA)

becomes eight time

DaE B e
3.¢¥ "

remains unchanged.

BTGSeI AGAMTT &odia
4. % @

Question Number : 88 Question Id : 5447341048 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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Find the angle between the vectors A=21+ 47 + 4k and B =47 + 2f— 4%.

A=21+4] +4k 28a B =41 +2] —4k 690 6| S0

Options :
1. % o

) 45°

Question Number : 89 Question Id : 5447341049 Display Question Number : Yes Is Question
Mandatory : No

A simple pendulum 1s vibrating in an evacuated chamber. It will oscillate with

28 LLVEVEIN AFA[AN BEHERD AOS" SodrTen SRV, T SodTW

Options :

Constant amplitude

26 S0 DB’ Gotron
1.v @

Decreasing amplitude
. e‘.ﬁ%b@aé;l S0 DB GotTon

Increasing amplitude
. :Jdamefeoél 00D DO Sotro

AP EAPCET 2021



AP EAPCET 2021

Amplitude. the variation of which cannot be predicted
S0 DB mmﬁm S0 DT S0

Question Number : 90 Question Id : 5447341050 Display Question Number : Yes Is Question
Mandatory : No

A thin rod of mass ‘m” and length ‘2[" 1s made to rotate about an axis passing through its centre and

perpendicular to it. Its angular velocity changes from 0 to @ in time ‘t’. What 1s the torque acting on the rod?

m’ @ 2 e sO0% g Huxsd Scf: &) Sogs: 0 GRVS), B0 DO TS Lot
Forren Satuiad) 8. ‘t’ pasvaws’ Selasd 3 0 ded w § 2788, 1 &6 e HISH 78], od?

Options :
mlw
1. % 12t

mlw

2. %t

milZw

3. 3t

4mlilw
3t

Question Number : 91 Question Id : 5447341051 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021
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A flywheel having moment of inertia 10 kg.m? is rotating at 50 rad. s~*. What amount of

work needs to be done in order to bring this flywheel to rest i 10 seconds?

10 kg.m* adaq graosandy $DA% w8 ddTos g 50 rad.s ™ dddws
BN B. 10 S0’ b JoNRSE'IS T56=AS, BoIVD I Jod?

Options :
1 % 1140017

, » 125007
5 % 1300017

4 % 145007

Question Number : 92 Question Id : 5447341052 Display Question Number : Yes Is Question
Mandatory : No

Two particles ‘P" and ‘Q’ describe SHM of same amplitude ‘a’ and same frequency ‘f " along the same

straight line. The maximum distance between the two particles is ay/2. The phase difference between the

particle is

ot §77e0 P’ 608 Q28 0¥ B Do 28 S0 DBD ‘0’ 28 FYfw &

“n}CW:J“U"@éS B33’ &) Q. 0o SET0 :ucévg na;g QPG a\/i .83 5T :13@5 ST B0

Options :

1 % Zero

T
2.¥ 2
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Question Number : 93 Question Id : 5447341053 Display Question Number : Yes Is Question

Mandatory : No

A simple harmonic oscillation is represented by x = A cos (mt + Z)' Its speed 1s maximum

when ‘t" equals

ROVEPTE)S BRR20 GE) P30 & $0B 2EBRANS ArOF. x =

A cos (mt + E) " 30y, D e T S ABDDE0B.

Options :
T

1. % 2w

e |a

e |5

Question Number : 94 Question Id : 5447341054 Display Question Number : Yes Is Question

Mandatory : No
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A communication satellite of 500 kg revolves around the earth in a circular orbit of radius
4.0 X 107 m in the equatorial plane of the earth from west to east. The magnitude of angular

momentum of the satellite 13

500 kg 63073 o 28 D6 GO AraEPdad duss” Ard Wi 40 X 107 m
TR i HTTE 58" HEDE Dol Rty Pipd SRS, Eirw Srial
(355 30180 o), HOSTE

Options :
| % ~ 013 x10* kg.m?.s™!

, » ¥ 130X 10" kg.m®.s™*

3 ¢ ~058x10" kg.m®.s7!

4 % ¥ 2.58%x 10 kg.m®.s™*

Question Number : 95 Question Id : 5447341055 Display Question Number : Yes Is Question
Mandatory : No

The rotation of the earth (of radms R) about its axis speeds up to a value such that a man at

latitude angle 45° feels weightlessness. The duration of a day 1 such a case 15

R 353"%::;3 (10 e 28 B0 DEATF IR FLVETED 28 Jend HOL Hidodo
©:)B008. &3 eV 96 45° oFo3 §t30 36 &) S0a) &PY GO 9NTE). tNHL)
’ﬂodﬁa&ﬁn@e 28 B 356

Options :
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Question Number : 96 Question Id : 5447341056 Display Question Number : Yes Is Question
Mandatory : No

When a 8 m long wire is stretched by a load of 10 kg.wt. it is elongated by 1.5 mm. The

energy stored in the wire in this process is (g=10 m.s7%)

8 m e $DAD g Srie> 10 kg. wt erod) SABorsw0D GS° 1.5 mm Frivse
§90R6. wond e 3’ Jo ad) 38 (g=10 m.s™7)

Options :
1 % Fid |

, % 0.05]
3.% 97

4 v 0.0757

Question Number : 97 Question Id : 5447341057 Display Question Number : Yes Is Question
Mandatory : No
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In a vehicle lifter. the enclosed gas exerts a force *F’ on a small piston of 8 cm diameter. The
pressure 1s transmitted to a second piston of diameter 24 cm. If the mass of the vehicle to be
lifted 1s 1400 kg. then F must at least be (g=10m.s7%)

TETOR T 0ogne” 2330 Bohadd ToiHd” 8 cm TR0 5B %)
SVRVEA0 D68 F* wwdw RarAotieiciod. e DEHAD 24 cm Fﬁ*m $OA% Boctd
ANRVEINAD Qb“dmwéoé. DAV TEP o cs), Qb?gtr*% 1400 kg, 008 aoh
‘F' (g=10m.s™?)

Options :
1.« 1600 N

, % 1200 N
53 % 1800 N

4 % 700N

Question Number : 98 Question Id : 5447341058 Display Question Number : Yes Is Question
Mandatory : No

A body cools down from 52.5 °C to 47.5 °C in b minutes and from 47.5°Cto 42.5°Cin 7.5

minute. Then the temperature of the surroundings is

28 S0 52.5°C Aot 47.5°C D5 Dawared” 2Bodn 7.5 AdTrws’47.5 °C Aod
42.5 °C % Buwciod. HBIG Froore agﬁgej

Options:
1. % 39°C

, x 25
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3 v 35°C

4 x 157

Question Number : 99 Question Id : 5447341059 Display Question Number : Yes Is Question
Mandatory : No

Two plates of same area are placed in contact. Their thickness as well as their thermal
conductivities are in the ratio 2 ¢ 3. The outer surface of one plate is maintained at 10 °C and

that of the other at 0 °C. Temperature at the common surface is

28 DToiaw €900 Tt i 0YB)E° &) D. T8 HotAw Jdaky &Y TS 2 ¢ 3
:)3’.13@956 ﬁﬁ‘ua. 2.3“3’.3“?5 GL0SVANDD &) 2t 10°C 200CIE), 260 0°C bg ﬁélg).
900 e.:uéd 513 egﬁfjé

Options :
1.% 0°C

5 % 25°C
3 v 5°C

4 % 6.5°C

Question Number : 100 Question Id : 5447341060 Display Question Number : Yes Is Question
Mandatory : No
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. : . B
Work done by a gas m the process shown m the figure will be P

& $08 DLAVES’ BrHS DS Tawd) Bh% 5

b

Options :
Positive
qﬁa"e:&ésma

Negative
mwa&sm

Zero
-‘a\raﬁém

Can’t be determined

oot A0
4. % @

Question Number : 101 Question Id : 5447341061 Display Question Number : Yes Is Question
Mandatory : No

The efficiency of Carnot heat engine

0 &0 OoBI TBWE), BES

Options :
1s independent of the temperature of the source and the sink
2HEH0 20B0I0 Vos © A BEEDEE

2.

AP EAPCET 2021



AP EAPCET 2021

1s independent of the working substance
DI TGO STTEDED

can be 100 %
“ 100 % eoctod

3.
1s no affected by the thermal capacity of the source or the sink.
22208500 SBaiL oS o a@&mgémgg eI GG

4. % -

Question Number : 102 Question Id : 5447341062 Display Question Number : Yes Is Question
Mandatory : No

In a thermodynamic process the pressure of a fixed mass of a gas is changed in such a manner
that the gas released 30 joules of heat and 18 joules of wotk was done on the gas. If the mitial

wternal energy of the gas was 60 joules. the final mternal energy will be:

62198 HBOE’, a0 s 18 5 200 S060K 30 ] &igedn) D o 26 G2
fio 00 IS, HEDID 88 DS Srhod. T ), T wesds 33 60]
oS S8 VoS 35 Jod?

Options :
1. % 327
2 v 481

3 % 721

4 % 9617
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Question Number : 103 Question Id : 5447341063 Display Question Number : Yes Is Question
Mandatory : No

If & and f be the volume and pressure coefficients respectively of an ideal gas, then
@ 08050 f 099 w8 65656, Ak AwE), WADBATER dalw DED 5T wad,

Options :

1.4 a=p
2. % a=>f
3. % 2a=p

2.8 <P

Question Number : 104 Question Id : 5447341064 Display Question Number : Yes Is Question
Mandatory : No

The speed of the sound in Oxygen 0, at a certain temperature is 460 m.s ™" The speed of the

sound in Helium He at the same temperature will be (assume both the gasses to be ideal)

8 oodod &T50 36 eduds’ 61D diaw 460m.s ™. od 6T'90 56 rdabSe’ 6D
RIgh Y (Ootir 3656, Tradurrr GTo)a)

Options :

1 = 330 m.s !

- 1
5 & 1420 m.s

3 % 500m.s™*
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4 = 650 m.s 1

Question Number : 105 Question Id : 5447341065 Display Question Number : Yes Is Question
Mandatory : No

The radius of curvature of the face of planoconvex lens 1s 12 em and its refractive index 1s 1.5.

Then the focal length of the lens is:

WS VY NoFFE SHSAW S, T 35&33533 12 cm 208050 d8859 brgan 15 .
B0NA as), ma;:igo@d;m Qdoeh?

Options :
1 % 26 cm

) % 22cm

3 ¢ 24 cem

4 % 20 cm

Question Number : 106 Question Id : 5447341066 Display Question Number : Yes Is Question
Mandatory : No

A circular plate sheet of radius 10 em is placed in a uniform electric field of 243 X 10° N.C ™2,

making an angle of 60° with the field. Then find the electric flux through the sheet.

10 cm a{rgaw $900 w8 2T56 20s 23 X 10° N.C™" B3 B 2.8 DS Edawe
EouRCA0. TG Dus E3A08 52 Snaw 60° wowd, & Hus dor JTab S ©DT P

Options :
| » 136X%10° N.m*.C™
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> v 9.42x10% N.m2.C™!
3 % 0515 X 10° N.m?.C!

4 % 0515 x10* N.m?.Cc™*

Question Number : 107 Question Id : 5447341067 Display Question Number : Yes Is Question
Mandatory : No

When a 0.75 uF capacitor 1s charged to a voltage of 20 V. then the magnitude of charge on

each plate is

0.75 uF 3ar28 SDA 28 33006 20 V £ sd3d0 Babadsd. eond wf ), Bareb
DVEY Gol BIF DA Joth?

Options:
1« 15 puC
5 % 10 uC

3 % 20 uC

4 % 12pC

Question Number : 108 Question Id : 5447341068 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Four point-charges are placed at the vertices of a square of

.
4 +20ncT T pome
C —

side 2.8 m as shown in the figure. Find the electric potent:

at the centre of the square.

28 zham €DAY 2 SAsRA avg, Teud Foro .

56 D008 PP Do Dot BATL) EodEH. |
© e

00, & BB S0 36 S TOJDS dod?  +16nC ~34nC

Options :
1. % 450V

5 % 495V
3 % 405V

4 v 378V

Question Number : 109 Question Id : 5447341069 Display Question Number : Yes Is Question
Mandatory : No

Number of electrons flowing per second is a conductor carrying a current of 9 4 1s
9 4 IO Hderoid TPEAS” WD DIeFodd JUTR R0f Jody?
Options:
| % 3x107

, » 5.6x10%

5 % 5.6 X 10%
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4 % 3%x10%°

Question Number : 110 Question Id : 5447341070 Display Question Number : Yes Is Question
Mandatory : No

A magnet of magnetic moment 2 I.T~* is aligned in the direction of magnetic field of 0.1 T.

What 1s the net work done to bring the magnet normal to the magnetic field?

217" eoaioi¥) o0 gpangiw SDAD w8 otk 00D 085w 0.1 T ©0DF) 08 B BI°
&) 8. T £T°NS oRBT BRI SO BLSVN DI

Options :
1 % 0.17J

0.217

L % 107

Question Number : 111 Question Id : 5447341071 Display Question Number : Yes Is Question
Mandatory : No
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A thin flexible wire of length L’ is connected to two adjacent fixed

points and carries a current ‘I m the clockwise direction as shown.

When the system is put in a uniform magnetic field of strength ‘B

going into the plane of the paper. the wire takes the shape of a

circle. The tension in the wire, after acquiring the circular shapeis ~— —orrrrmemrmrrninnees

=]

T L 10 28 99) JokrdE O B ot 020

maDR) 99,09, Dotodw s D, &6 e T oy

B3 DITFWHB. © 5% B8 508 oA

SRS A &) ‘B’ 8% o 2508 &‘)Q‘bﬂ‘?}oé EGRINGE

ol . B 81 2,85 BTEAID SN, S 6D SRS

Options:
1. = IBL

IBL

IBL
4, % 4m

Question Number : 112 Question Id : 5447341072 Display Question Number : Yes Is Question
Mandatory : No

Torques 1, and 1, are required for a magnetic needle to remain perpendicular to the magnetic
fields B, and B, at two different places. The ratio B, : B, 15

By 08050 B, 0 08 ST’ 28 €007, 08 PG LRSI Goris) BIVED
&rQ), 0 SO 7, 8ot 7, W By ¢ By=
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Options :

2 TI:TZ

T1+Tz

T1— T2

T3~ Tz

4. ® T +7T3

Question Number : 113 Question Id : 5447341073 Display Question Number : Yes Is Question
Mandatory : No

The imitial rate of mcrease of current when a battery of emf 6 V 1s connected i series with an

mductance of 2 H and resistance 12 Q 13

6V ek wswoan sDAD erwdd 2 H Hom 208aio 12 0 Weand 386" ordan
57 DS L b §8 B dod?

Options :

—1
.« 054s

, x 1As™

4% dAsT
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Question Number : 114 Question Id : 5447341074 Display Question Number : Yes Is Question
Mandatory : No

25V
I
|I

In the given circuit, find the energy stored in

the coil at steady state. 20

008" EPHR SUOLANE', 26 B’ 50 5H2 ﬂ 10Q
[ AMAAN T
D6gA’ g ol 38 L

250
Options:
1 % 2331

> % 2117

3.0 07

4% 2137

Question Number : 115 Question Id : 5447341075 Display Question Number : Yes Is Question
Mandatory : No

Suppose that the electric field of an electromagnetic wave in vacuum 1s

E=(31N.C™Y) cos[(1.8rad.m™Y)y + (5.4 X 10° rad.s"1)¢] 1. What is the wavelength A7

ARG’ &) w8 AEADFY 08 BBorfw ONE), DS £3:0
E=(31N.C™) cos[(1.8rad.m )y + (5.4 x 10° rad.s )t] T eoand S60rigY0 A dod?

Options:
1« 349m

5 % 3.50m
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3 % 3.40m

4 % 3.45m

Question Number : 116 Question Id : 5447341076 Display Question Number : Yes Is Question
Mandatory : No

The study of photoelectric effect is useful in understanding:
e’ 3@5@3 D0 & S0bd TS BA 'wg:m B8 dc 08" EHBradcS0d ?

Options :

Quantization of charge
353 S°(otIEBEIBD

Quantization of energy
33 5°(otIE0E00

Conservation of energy
35 DS[SBAW

Conservation of kinetic energy
B3 3S De:‘)ée‘_‘:smj

Question Number : 117 Question Id : 5447341077 Display Question Number : Yes Is Question
Mandatory : No
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When electron in hydrogen atom jumps to the inner most orbit, the radiation emitted belongs to
which one of the following series?

TEBS DEAFEYS'D T ed(od &0 E515°08 A8 th 2endE Déondw & 8o
2 3638 20000008

Options :
Paschen

383

1. %

Balmer

a:we.néé

2. ®

Lyman
3. e

Bracket
4 % SO

Question Number : 118 Question Id : 5447341078 Display Question Number : Yes Is Question
Mandatory : No

1 amu 1s

1 6507 BOT°F DT e
Options :

.y 93LKeV

, % 93LeV

3 v 931 MeV
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4 % 931 MeV

Question Number : 119 Question Id : 5447341079 Display Question Number : Yes Is Question
Mandatory : No

. , L lg i
In the following common emitter circuit. if § = 100. *’ + ‘
Vo = =7 V. Vy is negligible. R, = 2 kQ. thenl; =? Ry 2 A3

"
A" &) 60 H0aAD droTd. f = 100.
VCE = _7 V wma IB = _(VBE Q‘R}éﬁoé;b::’na) B

I

Options :
1 = 0.01mA

2 0.04 md

o x 0.02mA

4 % 0.03 mA

Question Number : 120 Question Id : 5447341080 Display Question Number : Yes Is Question
Mandatory : No
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In a communication system operating at wavelength 800 nm. only one percent of source frequency 1s
available as signal bandwidth. The number of channels accommodated for transmitting TV signals of
bandwidth 6 MHz 1s

800 m 00§30 365 5D 100 (', 28 Tdo AT 238 FiRfED o8 o8

DN 0B, 6 MHz ;’Jeé ey (o TV doSTro 2o BoErd$ v R0z

Options :
1
— x 10’
1. % 25
1
— x 107
2. ®
1
— x 107
3 « 16
1
— x 107
4, %
Chemistry
Section Id : 54473421
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:
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Question Number : 121 Question Id : 5447341081 Display Question Number : Yes Is Question
Mandatory : No

If a proton s accelerated to a velocity of 3 x 107 m. s~ which is accurate up to +0.5 %, then the

uncertainty i its position will be [mass of proton = 1.66 X 10 'kg. h = 6.6 x 107 I.5]
3% 10" m.s™" Btiod donidoson w8 Jerd ad 3o £0.5% 0 $9A &od,
T Fo8” 0 623880 [Jerd g2 = 166 X 10 kg, h= 66X 107" I.s]

Options :
| % 155x 107 m

, % 3.24%x107% m

3 % 158X 107" m

4 211X 1078 m

Question Number : 122 Question Id : 5447341082 Display Question Number : Yes Is Question
Mandatory : No

Find the uncertainty in the position of an electron which 1s moving with a velocity of 2.99 X

10* em. s, accurate up to 0.0016 %. (Given, m, = 9.1 X 1078 g. h = 6.626 X 10°% erg.s)

0.0016 % aaaaaaSOS, 2.99 % 10* em. st St waom;ql QT a8 gvasoes‘ RN )]
mm 08 E0F20? (DD §3(o3 = 91X 107 9. h = 6626 X 107 erg.s)

Options :
1% 1.211 mm

, % 2.99 x 10719 mm
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3 % 0.121 mm

4 12.11 mm

Question Number : 123 Question Id : 5447341083 Display Question Number : Yes Is Question
Mandatory : No

If the uncertainty in momentum and uncertainty in the position of a particle are equal. then the

uncertainty in its velocity would be given by

28 St AW Q,bé;ﬁrioé‘ IS0 ndakn ) g"aoé‘ A\ BS0 PATHWS,
Y T HMfodS” Iydeo

Options :

h
A = i

= 2

Question Number : 124 Question Id : 5447341084 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following sequences is the correct order of the size of species?
a“é%“go eLTGoTT 08 SO VotioBol) VTR 3o AB?

Options :

| x EFFBT

, x IT>1T>17

3 % i e

- +
4"?,1' =1 T

Question Number : 125 Question Id : 5447341085 Display Question Number : Yes Is Question
Mandatory : No

If the successive ionization energies of an element A are 165. 190. 550 and 595 kcal.

respectively. then the ground state electronic configuration of element A 1s

A 80 2rusaw cfméaj A% 90DDEGE Qoﬁ“@b Qensen 165. 190. 550 &Sododw
595 keal @008 A Aaresd) mg“cm QTS DT[N0

Options :
1 % [Ne] 352 3p?

> % [He] 2t
3 % [He] 2s? 2p?
4 v [Ne] 352
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Question Number : 126 Question Id : 5447341086 Display Question Number : Yes Is Question
Mandatory : No

How many oxides among the following are basic i nature?
$o& 53 \& o5 A 6 T yEen?
ASzgg s P\'rﬂ'zﬂ ; Mgﬂ = MHEG3 : Cal ., Zn0 . NEO : NEUE

Options :

1.@-"4

Question Number : 127 Question Id : 5447341087 Display Question Number : Yes Is Question
Mandatory : No

Which 1s the most covalent?
DA e @é}ba‘b o328 “@5&:“;5@ £OR dotHd?

Options :

. AlCL

, v All

3 % Mgl
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4. e J.I‘.‘llfﬂ .!r

Question Number : 128 Question Id : 5447341088 Display Question Number : Yes Is Question
Mandatory : No

Addition an electron to an Antibonding molecular orbital

28 e9deods H&awﬁ ) 2,8 &}ugfsm t_.s}Bt‘:]@

Options:
mcreases bond — order

BJod S2T°0S000 DA

1. %

decreases bond — order

2JoG) SaATC0S00 SR
2. % 1

stabilizes the system
. IO DESB DTN
3, % >3 o

decreases the inter-nuclear distance
. e90dd SotS g ejg}m

Question Number : 129 Question Id : 5447341089 Display Question Number : Yes Is Question
Mandatory : No

In which of the following ionization processes the bond energy increases and the magnetic
behavior changes from paramagnetic to diamagnetic?

8ot WA LaAS0H HEADOS’ LodFs DBR, FU° LADI 08 (36)0 Aoot) GOLF
@01)5‘6093 Gﬁﬂ"é’:}é A8 D80 oBotiodt.
Options :

1. %
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5 v NO — NO*

+
4_&;3”2_}N2

Question Number : 130 Question Id : 5447341090 Display Question Number : Yes Is Question
Mandatory : No

Among the following, Van der Waals constant “a” would be maximum for

Tokb T ?&:};U"oé;fm ‘@’ D (d&:000TT $0A Gol TroIND) S0b THS” AT

Options :

Question Number : 131 Question Id : 5447341091 Display Question Number : Yes Is Question
Mandatory : No

The Kinetic energy of one mole of any gas depends upon

BT 28 7S T0I0Y IS, (32 S D BEEEHEIRD
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Options :

pressure of the gas
| % TOSDD) DEDAW

volume of the gas
T°05eY) DVRDBDT7200

nature of the gas
STPO5DYY) (DD

absolute temperature of the gas

o TEDD D62 aJos

Question Number : 132 Question Id : 5447341092 Display Question Number : Yes Is Question
Mandatory : No

In each molecule of carbon tetrachloride. the mass percent of carbon and chlorine respectively are
and

56\ DEPE0EY’ 6D 0Bk E89v G0 o Deviden ST SoBokw

Options :
1 % 76 .86 & 23.14
> 7.84 & 92.80

3 x 23.14 & 76.86

4 % 7841 & 9.25
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Question Number : 133 Question Id : 5447341093 Display Question Number : Yes Is Question
Mandatory : No

When equal volumes of Helium and Neon at same temperature and pressure are mixed. the

ratio Gy, * C,, of the mixture equals

28 &'0a bk S0 &) RAPD LWRDOITETLD (0 2Dosre 28050 DoIrD
TOEPVR Mo BT, WY C, ¢ €, WD

Options :
1. % 3:5

2&;1:2

Question Number : 134 Question Id : 5447341094 Display Question Number : Yes Is Question
Mandatory : No

Which among the following are true for an rreversible isothermal expansion of an ideal gas?

050, T AE), eﬂmggm&m RIS D‘S&ﬁtﬁﬁ.‘l}&‘)ﬁ) Dotodot) Sod dnohdwee’

20 dzAw

W W=-0
() AU=0
(1) AH #0
(iv) AT =10
Options :

Only (1). (i1) & (iii)
,w (). (i) & (iii) 283
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Oaly (1). (11) & (1v)

, o (). (i) & (iv) g

Only (i1). (111) & (1v)
3 % (1i). (ii1) & (1v)Soebad

4w (). (i) & (V)

Question Number : 135 Question Id : 5447341095 Display Question Number : Yes Is Question
Mandatory : No

Which among the following pairs constitute a butfer?
BAD ArDeDD DTV 20008°, D 20t D6 TrIETY) R’

Options :
LiOH & LiCl

1. %

, « HNO3 & NH,NO;

. HNO; & NaNoO,

4 % HBr & KBr

Question Number : 136 Question Id : 5447341096 Display Question Number : Yes Is Question
Mandatory : No
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If the concentration of Ag™ ions in the saturated solution of Ag,C 05 is 1.20 X 107 mol.L ™%,

then find the solubility product of Ag,C0;.

oty Ag,C0; s’ Ag™ woirde mes 1.20 X 107 mol. L eand Ag,C0,
W), T IRONE O

Options :
| % 530X 107"

, % 450 x 1071

5 % 2.66 X 10712

4 v 6.90 x 1071

Question Number : 137 Question Id : 5447341097 Display Question Number : Yes Is Question
Mandatory : No

Hydride gap corresponds to elements of

TEE P 9 ATUSLL) DoeeBeDIA

Options :
Group 7.8.9
1. (e 7.8.9

Group 13
2 % e 13

Group 15.16.17
3 % o 15.16.17
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Group 14
4 % o 14

Question Number : 138 Question Id : 5447341098 Display Question Number : Yes Is Question
Mandatory : No

Which of the following metal ion plays an unportant role in muscle contraction?

$06 ' WOIrdVY’ DB SobTrUE D ATY DAWE” AVP[ROD TR TR0

Options :

1. % Fe®*
, v Ca?*
3. % Au”
4. % Na*

Question Number : 139 Question Id : 5447341099 Display Question Number : Yes Is Question
Mandatory : No

The stability of +1 oxidation state increases in the sequence
+1 338080 DS CB0E), VOB DBA SB0dw
@ @

Options :
1 % Ga<In< Al <TI

. Al < Ga<In<TI
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3 % Il<In<Ga<Al

4 % In<Tl<Ga< Al

Question Number : 140 Question Id : 5447341100 Display Question Number : Yes Is Question
Mandatory : No

Identify the mcorrect statement about Si0, (silica) from the following:
§i0; (N857) £ Dorrobor) So& DIVT VS’ DO T PIBTV) HBociA:

Options :

It 1s highly reactive due to low Si — O bond enthalpy.

- LN Si — 0 eyotd &}or;:“@:} SR 98 ds ﬁm&%u@ SO Eotnod.

It 15 a covalent three-dimensional network solid.
98 BAE0H dE o PVIVAT2AAD DOD DEGA.

Quartz. the crystalline form of silica. is used as a piezoelectric material.
2B 2y ErHD SEHM HE DS DAV ST .

An amorphous form of silica 1s used in filtration plants.

4w 205 g, wE) OIS BrFY) HET'S DBFVS” EDHETAHIW.

Question Number : 141 Question Id : 5447341101 Display Question Number : Yes Is Question
Mandatory : No

Which region of the atmosphere is the domain of all living organisms?

ST D0EEA0 CONE), D DS’ DT R HRAMAE FrRetiiw)?

Options :
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Troposphere

1 ¢ wﬁbﬂﬁbﬁ

Stratosphere

35" \a08

2. % £

Mesosphere

h)ﬁ“iaﬁaiaﬁ
3. %

Thermosphere

4 % Eﬁﬁéhjubﬁ

Question Number : 142 Question Id : 5447341102 Display Question Number : Yes Is Question
Mandatory : No

Based on the TUPAC system. tertiary butyl group 1s named as
[UPAC dpraddnng esgrdac ﬂgcﬂnﬁ AV REATTEDS o D

Options :

2 — methylpropyl
| v 2 — BS TS

2,2 — dimethylethyl
L w202 EDBS S35

2 — methylbutyl
2 — e eA§ee5
« o

1,3 — dimethylbutyl

. 1,3 — 20PS (e
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Question Number : 143 Question Id : 5447341103 Display Question Number : Yes Is Question
Mandatory : No

Identify the structure representing * 3 — oxo 2 — methyl hex — 4 — enal .
‘3 — e 2 — QRS 6y — 4 — B S Ao} £30 DE?

Options :
0
C)K(\/\CHG
CH,
0 0
/H\HK/\
CH;
M/
CHO
0 CH,
0 OH

H
1. ®
H

2.9

H.C

3. %

N

4. %
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Question Number : 144 Question Id : 5447341104 Display Question Number : Yes Is Question
Mandatory : No

Which statement regarding the following structures are true?

$08 e55,B00L DotioBow) VBADA BIHWTA) M8otirdw.

HOu, COOH | HOOC o1
I, i
HOOC sty o COOH
(4) (B)
OH
HOT;P_!ffCUUH HQTE___//CODH
b hy
HOOC iy, HOOC i
H OH
(C) (D)

Options :

A and B are diastereomers. C and D are enantioiers
. A S08a30 B en doﬁré&:ﬁrmgl C 08030 D e S}a“gcﬁ:“mga

A and B are enantiomers. € and D are enantiomers

L A 20BaIn B e DTQOIra0d. € S0805 D e JRrQairddg

A and B are enantiomers. C and D are diastereomers

| A 290050 B oo dTQouraudy. € 2080 D e G032 OB 2060

A and B are diastereomers. C and D are diastereomers

, A D000 B en EOSTRBOIrAE, € 208050 D e GOS8 S

Question Number : 145 Question Id : 5447341105 Display Question Number : Yes Is Question
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Mandatory : No

How many unit cells are present in a cube shaped ideal crystal of NaCl of mass 1 g?
€ T IR0 TGO D) 866, D88 Nall &' o crd 25w A)?

Options :
1 % 5.14 x 10%

, % 1.28 X 10%
3 x 1TLR LG

4 v 2.5 x10%

Question Number : 146 Question Id : 5447341106 Display Question Number : Yes Is Question
Mandatory : No

The elevation in boiling point of a solution of 10 g of a binary electrolyte (of molecular mass
100) in 100 g of water is AT),. Then the value of K, for water is

100 g D6 10 g osoorf, DesoBrangan (98 Deofdrangan) $Bh &) o
aIO), AN TR 6)8 AT,. A cwg) K, Dews

Options :
ATy,
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Question Number : 147 Question Id : 5447341107 Display Question Number : Yes Is Question
Mandatory : No

A gas X 1s dissolved in water at 2 bar pressure. Its mole fraction in the solution is 0.02. Find

the mole fraction of water i the solution when the pressure of the gas is doubled at the same
temperature,

X 5 2,8 o)A 2 bar &AW 36 S’ Do, Tranine’ T AT Friaw
0.02. 08 00 3¢ Tk SET) 0o BY, & TIVAS’ WD Are g

Options :
1. ¢ 0.04

, % 0.98
5 % 0.96

4 % 0.02

Question Number : 148 Question Id : 5447341108 Display Question Number : Yes Is Question
Mandatory : No

The molar conductivities of KCL. NaCl and KNO; are 100, 120 and 90 cm?®. mol ™.

respectively. The molar conductivity of NaN 05 would be em?.mol ™,

KCl. NaCl 208030 KNO; mraere arerd TIPSR Qenden S 100, 120 Sudasn

90 cm®.mol ™" eand NaN0, Qo). Arerd FPSS(Ew em®mol ™! o’

Options :
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1 v 110
, % 290
5 % 310

4 % 120

Question Number : 149 Question Id : 5447341109 Display Question Number : Yes Is Question
Mandatory : No

If the conductivity of a 0.5 M KCl solution at 298 K is 0.024 S.cm ™2, then the molar

conductivity of the solution would be S.cm®.mol™}

298K 56 0.5 M KCl graeadn aing), Trsaw 0.024 S.om™L. &8 EranA oIE),
b TIPSSEEW (S. em?.mol ™) o

Options :
1 % 150
2.v 48

3 % 24

4 x 1214

Question Number : 150 Question Id : 5447341110 Display Question Number : Yes Is Question
Mandatory : No
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Same quantity of electricity was passed through solutions of salts of elements X, Y and Z with
atomic masses 7. 27 and 48 respectively. The masses of X. Y and Z deposited were

2.1 9,2.7 gand 7.2 g respectively. The valence’s of X . Y and Z respectively are

Felofebich) Qaﬁmmw 7. 27 oot 48 SR o X, Y 8050 Z 0 oy Aot
28 DAoid DT ICAW ST, JDEH X, Y 280t Z gIgoroen S
219,27 g20Bo3n 7.2 g. X. Y <0badn Z © Dodirasden ST

Options :
1 % 3,2and1

> % 1,2and3

3 ¢ 1.3 and 2

4 % 2,3and1

Question Number : 151 Question Id : 5447341111 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The property of adsorption 1s shown to a great extent by solids than liquids

Reason (R): Solids like charcoal. silica can act as good adsorbents

.U%bém} (A): 08 F86 éﬂ“é:}l GeT0) Sobd :Jm*’g“w DR S0TT BrHTraw
w600 (R): o6 §9, 2050 208D 200) 085 Q5w DIBT o0

Options:
A and R are correct and R is the correct explanation for A

_— A S08ain R 28 200850 £8ain R, A £ 28 eaind o0

A and R are correct but R is not the correct explanation for A

> A 208010 R 28 0005 520 R, A £ 208 90505 D6 5060

AP EAPCET 2021



AP EAPCET 2021

A is correct. R 1s wrong
3 % A R0 ©o0AR, R 00 ®0006 570

A is wrong. R is correct

4 % A 2B 20088 576, R 20 000008

Question Number : 152 Question Id : 5447341112 Display Question Number : Yes Is Question
Mandatory : No

The acidic character of the group-15 elements in the increasing order 1

(ra -15 Jrose HES(E,E) 2320 DTN HOMEY CIE), DB S0
Options:

,l S ASzog = PEOE = Bf203 {: Sb203
2 % 14.5203 < PZDE < Sb203 < BI‘ZOE
3 » Biz03 < Sby05 < As;05 < P05

4 % sz@g < ASzog < PEDE < Bizr_}g

Question Number : 153 Question Id : 5447341113 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not given by 50,7

BHD 566" SO, 2EDSI SB[ DB?

Options :
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It converts acidified iodates to 1odine
e3.005008 OITEE LA AT ;ﬁrdagéo

It decolorizes acidified KMnO, solution
. es0cind KMnO, & :'D.:ngo TI030A

It reacts with acidified potassium dichromate to form green colored solution

, B Terono EE20L0RD LN GOt AT\
3.

It reacts with green colored ferrous sulphate to form yellowish brown ferric sulphate
4w B8 DI DER VTS TrHRY’ 56 Tol, Hgo) Gorb 25 DT I At

Question Number : 154 Question Id : 5447341114 Display Question Number : Yes Is Question
Mandatory : No
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Match the following:

Molecule Geometry
(a) XeF, (1)  Trigonal Pyramdal
(b) XeO; (1) Distorted octahedral
(c) XeFg (1) Linear
(d) XeOF, (1v) Square pyramidal

Sod TR 2eh oA

HEEJQ) Hgaa

() XeF, (i) Sfa6 6D

(b) XeO, (if) Ere DodD Y

(¢) XeE, (iif) Bato

(d) XeOF, (iv) ©9B00R ArE(E"om
Options :
| o Ca—iii), (b—i),(c—ii),(d—iv)
,  (a—iv), (b—iil), (e —ii),(d—1)

. (a—dii),{(b—i),(c—iv),(d—=ii)

4w (a—iv),(b—iii),(e—ii),(d—1)

Question Number : 155 Question Id : 5447341115 Display Question Number : Yes Is Question
Mandatory : No
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Which among the following doesn’t form a white precipitate with AgN 05 solution?
808 Rod) A FTOS” DO TIRINSG B VIFHIW 6 \GL?
Options :

- |Co(NHS) L,
, x [CoWHs) Cl]CL,
- [co(NH;),CLy]CL,

) v |Co(NH;),CL,]

Question Number : 156 Question Id : 5447341116 Display Question Number : Yes Is Question
Mandatory : No

Which among the following is most paramagnetic?
08 esairoed” 828 OBBE FT0I7) 0 S A0 $OA Sod?
Options :

T
1. % [CT(HEO-]G]

- [FE(HZ::J}ﬁ]2+
]2+

Cu(H,0
3.$[“(2 )ES

, 2+
4w [Zn(H;0),]
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Question Number : 157 Question Id : 5447341117 Display Question Number : Yes Is Question
Mandatory : No

I an amino acid. the carboxylic group ionizes at pH= 2.56 (pKa, ) and ammonium ion

ionizes at pH = 9.38 (pKa,). The isoelectric point of the amino acid is at

28 AT B0 ') TTYES 0% HAFL 7S pH= 256 (pKay) 56 8o
w3} dako eoirio pH = 9.38 (pKay) 96 0DALEHAD BocdRD. & DS 2030
ag), DY JUSE Jronots 36 Got

Options :
1 % 11.94

, % 6.82
3 v 5.97

4 % 341

Question Number : 158 Question Id : 5447341118 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following Wurtz-Fittig reaction.

A BrHecd &f - begﬁ r.:’af:i?geﬁ"’ SN &7

Br
(i) Na

A

(ii) CH3Br

Options :

1. %

AP EAPCET 2021



AP EAPCET 2021
Q/ Br
CHy

UC Hy
2. %

@: Br
3. % Br

U Na
4, %

Question Number : 159 Question Id : 5447341119 Display Question Number : Yes Is Question
Mandatory : No
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When 1 : 2 equivalence ratio of the gases X and Y are heated to 573 K — 673 K at 200 —

300 atm in the presence of Zn0 — Cr, 04 catalyst. methanol 1s formed. Here, the gases X and

Y are and respectively.

1+ 2 doferto diay36"i) ¥ Bty ¥ raiodyed, 573 K — 673 K dbosw 200 -
300 atm 6 D8RBWE" 210 ~ (1,03 &80 d20506" 56 26200 DTS
DoyEa. X 20daio ¥ osven D7

Options :
1 % o, & H,
> co & H,

L« CHy & 0,

u Gl & Wil

Question Number : 160 Question Id : 5447341120 Display Question Number : Yes Is Question
Mandatory : No
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The total number of Sy 2 (Nucleoplulic substitution bimolecular) reactions involved m the

following reaction sequence is

0CH,§

HI (excess)

b
Ca

High Temperature

OCH,

& 060 ARG &) Sy2 BT AL SN Vo)

OCH,
HI (e26380)
A=
0CH, =

Options :

1.4 3

2.% 4

3. % 2

4. % 5
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